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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
8 5 30,5 - 30,5 4 9Bkn158+53 130 0,70 1 32 48 540 Jlicu 3eneHux 30 BCP cTOBOYpHA rHuMIIb 30 HEMa
12 2 37,0 - 37,0 4 10Bkn+As+53+]1c 130 0,70 1 32 48 490 Jlicu 3eneHux 30H BCP cTOBOYpHA r'HUJIb 60 HEMa
14 1 91,0 - 91,0 43 10Bkn+51B 120 0,70 1 31 40 530 Jlicu 3eneHux 30H BCP cTOBOYpHA MHHJIb 80 HEMa
16 2 6,6 1 6,6 25 10BKJI 130 0,60 1 32 44 430 Jlicu 3enenux 304 | BCP CTOBOYpHa 'HUJIb 50 HEMa
16 2 6.6 2 6,6 1,5 10BKJI 130 0,60 1 32 44 430 Jlicu X 30H BCP cTOBOYpHA MHUIIb 50 HEMa
21 11 8.8 - 8.8 1,0 10BKJ1 150 0,60 1 34 50 440 Jlicu 3enenux 30u | BCP CTOBOYpHA MHHJIb 50 HEMa
22 15 23.5 - 2315 2,0 10BKJI 140 0,60 1 34 56 450 Jlicu 3eneHux 304 BCP cToBOYypHa rHMIIb 50 HEMa
24 8 54 - 5.4 1.2 4bkn6I'3 70 0,90 1A 26 32 310 Jlicu 3eneHux 304 BCP BITpOBaJ 50 HEMa
29 13 12,0 - 12,0 2,5 6Bk45n+5ub+58 90 0,85 2 25 28 470 Excrutyarauiitsi BCP BITpOBaJ 50 HEMa
28 19 8.5 1 85 1,0 65133Bk1 518 85 0,80 1 28 30 410 Jlicu 3eneHux 304 BCP HEKPO3 ACCHS 60 HEMa
R —_— 28 19 8.5 2 8,5 1,0 65133Bk1 1B 85 0,80 1 28 30 410 b_ﬁos 3CNICHHUX 30H BCP HEKPO3 sICCHsI 60 HEMa
BitichKoBe 28 12 34,0 - 34,0 1,0 9Bk1513+51B 95 0,75 1 28 32 420 b_.os 3ENIEHUX 30H BCP HEKPO3 SICCHSI 60 HEMa
D 33 10 39,0 - 39,0 5,6 65K(90)2513151815K(140) 90 0,85 1 28 36 430 Jlicu 3eneHux 30 BCP CcTOBOYpHA I'HUJIb 50 HEMa
33 11 30,0 - 30,0 96 8bk2513+518 80 0,85 1A 28 32 450 Jlicu 3eneHux 308 BCP BITpPOBaJI 70 HEMa
34 13 0.6 - 0,6 0,6 551ne251315B16kn 62 0,50 1A 26 24 230 Jlicu x 306 | BCP HEKpO3 sICCHS 50 HEeMa
42 10 23 - 23 23 95131 5I8+Bxn 45 0,90 1B 26 24 420 Jlicu x 304 | BCP HEKPO3 sICCHS 50 HEMa
42 12 2.1 - 2,1 2,1 10Bx+53+0¢ 75 09 1A 27 28 460 Jlicu 3eneHux 300 BCP BITpOBaJI 50 HEMa
42 13 09 - 0,9 0,9 65134Bxn+Yin 50 0,75 1B 25 26 310 JlicH 3eneHux 30H BCP HEKPO3 SICCHs 50 HEMa
55 3 5.5 - 5.5 5,5 6Bk4 Jlc+1"3 130 0,65 2 28 44 310 Jlicu 3eneHux 308 BCP CTOBOYpHA MHHJIb 50 HEMa
56 18 3,0 - 3,0 3,0 511c5C3 80 0,70 2 22 28 270 Jlicu 3enennx 308 | BCP nonepeyHuii pak 50 HEMa
3 4 20,5 - 20,5 10,0 65k(130)26x(90)2]1c 130 0,70 2 28 50 330 Jlicu 3enenux 3ou | BCP cTOBOYpHA rHUANBL 50 HEMa
68 16 74 - 7.4 6,7 8J1c2l'3 140 0,45 3 26 50 200 Jlicu 3eneHux 304 BCP CcTOBOYpHA rHUIB 50 HEeMa
68 9 13,0 - 13,0 12,9 81c2Bk+I3. .. 120 0,45 2 28 48 210 Jlick 3eneHux 30H BCP CcTOBOYpHA rHIIIb 50 HEMa
72 11 3,5 = 3,5 35 gﬂ 92 0,70 1 26 32 340 | Jlicu 3enenmx 308 | BCP cTOBGYpPHA rHIIIB 50 HeMa
72 16 3.5 = 35 3,5 R TR\ A C b s 17R0 0,70 1 26 32 330 | Jlick 3enenux 30u | BCP CTOBGYpHA rHIIIb 50 Hema
75 4 13,0 = 13,0 13,0 ./ R ARG §o 32| 0,80 1 24 26 300 | Jlicw 3enenmx 306 | BCP CTOBGYpHA rHIUTH 75 HeMa
75 3 59 - 5.9 2,0 /f_ AraT 25~ 0,60 2 25 32 260 | Jlicu 3enenmx 308 | BCP CTOBOYpPHA MHIITB 75 HeMa
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